7.1-7.2 Worksheet Name:

Below are the 4 formulas used for exponential growth and decay:

L. y=ab" 2. A(f)=a(l£r)" . 3. A1) = P(L+ )™ 4. A(t) = Pe"
h

For the following, use the correct formula from above to write an equation that models the situation. Then
answer the question asked.

1. A car that cost $20,000 depreciates in value 11.4% each year.
a. Write a formula that models this situation.

A(E)= 20,000(1-+ 114 )*

b. How much value has the car lost after 8 yea %s B

A(8)= 20,000( 1~ 14 )® = 1[(4.61
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2. Elle invests $1250 into a savings account that earns 2.1% interest compounded monthly.
a. Write a formula that models this situation. 1724

ALY 129081+ 55

b. How much has Elle earned in interest after 3 years?
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3. Dan invests $800 into a savings account that earns 8.7% interest compounded continuously.
a. Write a formula that models th(lS situation.

Alt)= VOO 8

b. How much money does Dan have 1n the bank after 6 months?
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4, 10 bacteria cells on leftover food grow at a rate of 100% ea@ - ( =
a. Write a formula that models this situation. =" Pl s

A(E)= 10141

b. How much bacteria is on the food after 1 days?

Bu)=10(2)" = 24 hours
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5. The 12 Asian carp in Lake Michigan grow at a rate of 250% each year.
a. Write a formula that models this situation.

- e n g \ 1T
A= 121+ 2.5)
b. How many Asian Carp will there be in Lake Michigan after 15 months?

A (128 12(35 )7 LS IS = 1.2 years
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¢. Graph the number of Asian Carp in Lake MlCl—l;—é;I; over the next 10 years. Make a table with at
least 6 data points. Label and number your axes. PUT A TITLE ON YOUR GRAPH.
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6. Youinvest $25,000 into a bank account that earns 1.6% interest.
a. How much will be in your account aftes 10 years if the interest is compounded annually?

25000 (1 + LW YO) =8 90330y o |

b. How much will be in you1 account ?fter 10 years if the interest is compounded monthly?

(,2%(((( - _/2_ ) ﬁ)} ,’),;‘. (o )

¢. How much will be in your account after 10 years if the interest is compounded continuously?
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7.1 Reteaching- Graphing Exponential Functions

Name:

1. An antique vase was worth $100 in 2000. Its value increased 13% each year. Graph the value of the vase from 2000

A)= 100(1+.13 )

ntil today.

-Make a table

-Label the x and y axis
-Number the x and y axis

-Graph

the next 10 years.

-Make a table

-Label the x and y axis
-Number the x and y axis _

Graph
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2. You decide to buy a house today for $250,000. Unfortunately, because of the étonomy, your house will decrease 2%
in value for the next 10 years. Graph the value of your house over

\fﬂ CANS

3. College tuition at most community collegeé today is $7000 a year for in state residents. However, college tuition

increases each year by 6%. Graph the cost of college tuition over the

next 20 years.

-Make a table

-Label the x and y axis
-Number the x and y axis

-Graph
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Algebra 2 Name 1Dz 1
Graphing Exponential Functions | Date Period
Sketch the graph of each function.
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